40 kN
7 kN
49 kN 7+49=56 kN

5m
135 m
15m
10m
H-450x 200x 9x 14 0.735 kNm
22K 0.216 kNm W=(0.735+0.216)x 5=4.75 kN
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B a
PA=40/4+(13.5-1)/2/13.5x% 56=35.93 kN !
PB=(40+56)/2-35.93=12.07 kN |
r ]Ej|1 N
.
a 0586L
Mmax=1.2x 35.93/2/5x (5-1.5/2)"2+4.75x 5/8=80.85 kNm g2
Rmax=35.93x 1.2x (2-1.5/5)+4.75/2=75.67 kNm
!
ry F5
]
Rmax

Rmax=35.93x% (2-1.5/5)x 0.1=6.11 kNm

H=35.93x 0.1=3.59 kN
a 0.586L
My=3.59/2/5% (5-1.5/2)"2=6.48 kNm

Rmax={40/4+(13.5-1)/2/13.5% 7}x 0.18x (2-1.5/5)=4.05 kNm

H'={40/4+(13.5-1)/2/135% T)x 0.18=2.38 kN

a 0586L
My=2.38/2/5x (5-1.5/2)"2=4.3 kNm



a 0.65L
0 1=35.93/48/20600/32900x (5-1.5)x {3x 5"2-(5-1.5)"2}x 10"6=0.243 cm
O 2=5/384x 4.75x 5"3/20600/32900x 1076=0.011 cm

0 =0 1+ 2=0.243+0.011=0.254 cm 0.254/500=1/1969  1/1200 - OK

L/2 L/2

—— [

H-450x 200x 9x 14 [x=32900 cm4 Zx=1460cm4 Zy=187 cm4 ib=5.23 n =8.4 maxlb=3.5m
F=235 N/mm2 ft=F/1.5/10=235/1.5/10=15.667 kN/cm2 fc=F/1.5/10/V 3=235/1.5/10/v 3=9.045 kN/cm2

b maxlb
A ba=5x 100/5.23=95.6 A "2=T1 "2x 20600/0.9/15.667=14419.12
fba=(1-0.4x% 95.6"2/14419.12)x 15.667=11.695 kN/cm2
A bb=5/5.23x 8.4x 10=80.31
fbb=90/80.31x 9.80665=10.99kN/cm2 fb=max(fba,fbb)=11.695 kN/cm2

0 X=Mx/Zx=80.85x 100/1460=5.538 kN/cm2
0 y=My/Zy=6.48x 100/187=3.465 kN/cm2

o x/fb+o y/th=5.538/11.695+3.465/15.667=0.69 1 OK

T =Q/(tH)=75.67/(0.9x 45)=1.868 kN/cm2 _ fc=9.045 kN/cm2 - OK

craneksan02b 2005/12/07 14:24:41



